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3.3.7
34a (7133 1n3) 2 35a (jwrpwn 7711¥5)

I. Analysis of final clause of the mwn — if he places it in a 113, at any depth is still valid
a.Location: cannot be "1 — since that extends all the way up or down
i. Cannot be: 9"n; if he intended to establish nn»aw below — they are in same mw»; if above — different n»wa
ii. Must be: that 111 is "1 and he is in 9”13 (around Ma); following ’27 — no Maw during v’
II. 23 mwn: 2y is valid, at any height, atop a board or reed
a.conditions: must be disconnected from the ground (= no problem of 15’82 wnnwn) and stuck into the ground
i. challenge (8275): implication that this is 1321 (since they disallow 17’82 wnnwn —a mMmaw — can’t be »a7)
1.answer1 (n”): indeed — this clause is 1337 and the previous one is »11
2. Answer2 (8227): it is all 229; here he concedes the n 1 — as reed may break
a) Support: story w/1"1 who allowed students to prepare (and then sit on) soft reeds on naw
i. And: when challenged from our mwn, distinguished between soft and hard reeds
1.Support: resolution from conflicting mn» a (»:2 »X5> RNaoIN vs. RN»»11) about DIRYD
2.Note: distinction between n31% n1p (considered tree [n:x DRY3] and n1'p (777)
II.  3» mwn: status of an 217’y placed in a tower and key is lost
a. ' fully valid
b. 7158 7. if he doesn’t know the location of the key — invalid
Iv. Analysis of p"n’s position and the dispute
a.Challenge: if locked tower, he and 271y aren’t in same mw~
i. SKipwr 7. tower is built with bricks (w/o mortar) and this relies on n™
1.577. such a building may be “torn open” to get fruit out (only on v — not naw) — not considered n1no
2.Challenge: Y0:1 P21y 'o1n - 8" only dissents if tower is in field; but on v"v, being in field doesn’t matter
ii. Rather: nwn must be reconstructed (*Inp 21 R70MPN *ON):
1. 7”m: even if key is lost — valid, but only on v"v; if on naw — invalid
2.x77. if found in city, valid (per v™ in R:v about status of mxn ,ma»p etc.)
a) If: found in field, invalid (per 1227 who disallow maw during w”n3, since field is n’on1)
iii. 901 271 727 tower is made of wood
1.7 holds that wood structure is a *93 and %31 12 PR > permitted to break it down
2.x8”1 wood structure is an nR and ©’>nra 112 W > prohibited from breaking it down
a)  Per: dispute in »:7 par whether a ar knocking on wooden box renders it Xnv (arn Vo0 710)
i. Challenge (»ax): both 093 and D*YnR are vE’N PRNY if moved
ii. And: that dispute (3:7 ooar) is re: status of indirect moving (113 n3)
iv. ~371 728 key is tied to leather strip, needing knife to be cut, follows dispute in T:1 naw
1. 77 holds like »ov "1 that a *53 (knife) may be used for other purposes
2.x”1. holds like onny *7 (R: 7 naw knaown) that a *93 may only be used for its original purpose
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